st Eas
. EEf 7SS O 455 S8 SHRE

FEmERR - BB EURY

BIE : CS5600AS/CS5601AS

&K1 DDS B 5 5 A MEoR, PAERR. RE . 2. R IESZ

@R TR BRI E], TS R A R R R

& FLARHL ST T e

O MRS R AT [F D R AF AR AN U

& AR N E 20 MEIZ4L, RAMCIZA AT DB E 8 NP IR

O KM 43 P E R RN, RRSHIEE. HM.

O ) NEACRI AR ST . SO BT R B RN, IR . 1R TR

& SC R IRAEH DI, R AR A R

S ND . RGRSERFLER, AR 1l BT E B LR GURE.

L SESELCRPELEA UL VNI L =S SN N PSR VR i)

g

[ { ~ www.csallwin.com
r;iﬁ"i-&&{,’(#f: BlEELE TR B AT LU RS I'T‘!E-(’




. &S

BIFT B =ik SRAE

g

Wizttt

SEE

BE

RAMIHINER

ERAEERT

TIREESEE

ZEhiv= v

IR

BHRIREE

IRIEEER

BHESRE

FBJE_EFHATIE]

A E]

EB TSP E]

111

SERINO

e

B

RAMIHINER

RARERMR

22hi= v

SUREEL

TEERTIE]

RAFEFEAT

EBJE_EFHATE)

A E]

EB TSP E]

[EJ BRI TE]

FERT A

SEE

BE

BALRRIZEE

A NRIREE

CNAS COIZ-M

AP
CNAS 7. oo
Sagll”

e A O B E R T O BT LR RN R

CS5600AS CS5601AS
AC/IR AC/DC/IR
0.100kV ~ 5.000kV
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0, 03s~999.9s O0=EB[F FiEATEx
0.0s ~999.9s (E=I[EENEIFS
1-9%
____________ 0.100kV ~ 5.000kV
............ + (2%EEE+5V)
------------ 1V
............ 60W
____________ 20mA
____________ (0~9.99) mA , O=FFIKT ™R
____________ <5%
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............ 20mA
____________ 0, 0.3s ~999.9s 0=E5 & _LFHAdiE)I*=
____________ 0, 0.3s~999.9s 0=1Z4EMix
____________ 0, 0.35~999.9s 0=H3/F FFERT AR
____________ 0.0s ~ 999.9s O=[EIfRHY A<
............ 0.0s ~ 999.9s O=[ElfRAtER
(0.100---1.000)kV
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9999MQ
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AC

2mA Y : TuA, 20mA £ : 10uA , 100mA £ : 100uA
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2mA &Y - TuA , 20mA)4 : 10uA
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1MQ ~1000MQ
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